05912 fRIRFKH EEE RN ERE AR ZH

7= miiEA

M
Ml
RELRIEF

g
EmESNBEELLE,

BR:
ERRREFEH, THXANIERE B, THEUEIENERE
B T REREM.

R4 -

05280 BRI 18

07110 RIHEKFE R iR1e
07117 AN KF4

07120 # JRAF3E L1242 DIN 6332
07121 KL TATIE L 1R 48
07140 &P DIN 6311

07142 [EH]

BEETR :

1) BRIZEELE 1
2) RIUEH{LE 2

© norelem www.norelem.com



05912 fRIRFKH EEE RN ERE AR ZH

~L1 Al B

2

B2
B3
86
[
N

~L

EE%A EERA EERA EBFKRA 2 EFERA EFEH X kEFHD | RED READ
FRAL 1 BRfL 2 Fo PRz ER FRAL 1 BRfL 2 F2 B8 F4
N N \
05912-005002
05912-006002 56° 83° 141° 46° 56° 160 1350 1650 920 1050
05912-008002 13° 93° 158° 26° 61° 190 2000 2800 940 1350
05912-010002 6° 97° 176° 19° 59° 250 2500 4500 1500 2800
05912-012002 11° 88° 164° 24° 60° 280 3000 5500 1400 2800

05912-005002 2 M5x25 16 1] 132 92 225|298 |55 119,2 | 65,6 35
05912-006002 3 M6x35 14 7 - 10 2 5 2 17,5 | 12,5 435|376 |55|55| 169 86,5 53
05912-008002 3 M8x45 21 39 9 19 - 110,2 (52| 206 | 156 415 | 49 |(6,5|6,8| 2004 107 62
05912-010002 2 M10x55 32|50 8 2735|141 |71|255|185 47 |623 |13 | 9 | 2474 153 95
05912-012002 5 M12x70 3253|105 - | - | 141 |71 | 28 21 47 | 698 | 9 88| 2655 | 173,56 | 113,5

© norelem www.norelem.com



